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5 3., a3 Reference material : Dicti ::Periodical : _? . -\

B ?;;. g\/{{, Malerial: Lictionary odical: _2 . 137 Wh@ one oﬁt,pe n responses would bea
.. AB) Newspaper ~ (B) Book meaningful orderof the following ?

(q Atlas {D] Biogra;:’-hy (1) ﬂbﬁlm {2] atom
o _ 3) mﬁlecule {4) proton
\, o ® @600 B ©.0.06.0
RalRR L LN BN Y | Q @m2.6r® . © @.6).8.0
Ay24 (B 15 Q) 01 ) 12 1 '
_ 14 Arrange the following words as per order in the
_ dictionary.
5. KMNP:ACDF::PRSU: 2 . ¢ (1) Acarpous (@) Across
(&) INRR ¢ ®) STVW i () Accede ® Academic |
n . . :_‘-'“- o | )] P;mentuate '

" D W 6.0 ‘va"’{é},m,{a},(&) o
%,_ Tea: Cup::Soup:. _? on: In . 3 -
N Direction : In question nos. 15 to 18, a series is given, with

A K (A) Mug (B) Glass oneterm missing. Chm@eme-:orrectalternati?efmmths

) {® Spoon L{ﬁi Bowl givenones thatmllcompletemesenea

i 15, 2,20,56,110, 2

(A) 115 [B] 132 © 144 @) 182
Directions: Inquestion nos. 7t0 12, find the odd numbers/ | o '
lettersfﬂgurefnumberpmrfmmthegwenaltenmhves 16, MENIPO_ 2 . 2 .
7. (A)7-18 . B) 9-26 W0 B Q. ©PA @DAQU
e - fa e e ST
© ©) 13-42 17. 121,222,424, _ 2 .
. o W4 @ 646 AG) szs {D] 626
.0 W35 B) 679 @i (D) 58 |
3 f e i i 187 LMN, MNOP, NDPQ\:REBT? :
N e s T T (A) PQRSTU OPQRST-
ol fﬁl_ﬂ _ ‘*-fﬂi' 1 EC} N - @)W ) (O RSTUVW. [D} QRSI‘U‘J
Jeavrece “SPA'CE TOR ROUGH AR : B

-\.h-.-‘..,

'-.

'Ijmmonﬁ Inquﬁhunms.ltﬂﬁ selecttherelataed mrdsf
Leﬁersfnumbersh‘omthe gwenaltemaﬁves. -

Downloaded From http: //sscportal |n
e e e P‘ART AL
GENERAL m:rELUGENCE & REAS@NING

N

'_,-.w?- #

{PJCOENWH
{B}Forgethng

CGL Exam FuII Details : http: //sscportal m/commumty/cgl



Downloaded From : http;__//sscportal.in

4.—...- -..'

-*:1.:-

rlmnem:al fig'lnes

""E: "_" e, “13'*'3 EP 4 l'-3 n.e‘l""' '} :-r= 1.---'.r _: .n- I'TJ..-'I ,T'I-j..\_-a:s..-;.:'.' .'T_':_::._,__;- . : e :-
< o T

(ﬂl + =X {B;,_‘ X + SRR
RECRESER %W&
1

?.ﬂ In a code language ’ TEMHDRARY’E ‘written as

"EPRSAYOYM' and"EXCUSE’ as -.H:!'WHGW .

is ASSURE’Wnttenm&mtmde
- (A) D)OG"JP {B}DPPW'P .
UG oxxvie ) oeevxe .
YR A

¥
f‘

)
Eki From the given alternatives select the word which
can be formed using the letters given in the word.

RATIONALSATION
(A) INTERNAL- - (B) SENSATION
() - ALTERATION .”59{ mwsmm

22, IfPRQST is coded as 13245 and OTUWV 1is coded
as {]568? then hnwas'IXOQPmded ?

(&) 95210 k(Bj 59021
© s () 21096

23. Aftet gnmga»dlscaum of 15% an a:tlde is sold at
g 255[};‘ what is 1I;s nwrked price? ;

=
e

W @
‘»{c.}" 3000 - () 2900. .

24,  How man}rsudlpausof]ettemaretherem the word
'RECOVERED, which have as many letters between
~ themin the word asin the > English aiphabet *

19. Insert the anﬂuﬁeﬁe uperatmns in the f{;lluwmg

' HJ’““’ﬂm— ~.means X, X mﬂ,;ﬁs.
= mp.-am ﬂ'lﬂlwmch Uf'&'lﬂ altEﬂ‘lﬂtwg 15
‘Jgt? }ﬂX}* MM..;":
K__-@r.f_g-x,ﬁeE& =12

T

.:\ . N --“?._ - . I:- . L '.
2 2?.1.3._.7 T},-.‘_l“?h‘ g
O R e

: ‘f'ﬁ#j . -

CYR N T

27. Als B"smfe 5 husband sbmthm" ({%and,D are‘ﬁsters -
ufB HuwnsA related,ta C?

(A) Sister . . . ‘L\Jm Bmtl;&r
(€ Sistexsin-law, [D} Wife

28, ‘Afmain runs for2 hrs at the speed of 40 km/h, It

. 1 17 .
runs for 45 hrs at the speed of 60 km/h and then

l .
rung for 3— hrs, at the speed of 70km/h. Find the

average speed of the train.
(A) 57.1km/h v(B/ 59.5 km/h
© 80km/h (D) 56.87 km/h

29.  From the given alternative words, select the word
Wwhich cannot be formed using the letters of the

givenword :

PRESUMPTION

(A) Ruin _ (B) Tier
"€ Pompous ©) Pump

30.  Theageof Ram is double as that of Shyam and half |

~ asthatof Suresh. If the sum of the:r ages is 70, whai
- isthe age of Rami?” o

W10 @20 ©30 (O

31. fBEAT=25-22-26- ?anciRUST 9-6-8- '.-”tl'len

| '(ﬁ} Fwe [B} Three - how will you code ‘BURST” ?
iy FM R A 25-6-9-8:7. (B) 25-22-9-8-7
wt i _,[ HRER ?} 5*" el T 5-9-6-8-7 02 5-9-8-7-6
SI’ACE F‘DR ROUGH WGRK
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(A) 2 ®) 4 © 6 D) 8

& '
25 17 @ SR
32 40 11
26?31
(A) 26 @25 (34 (D38
34. 3 5 2 { .,-f-“
i 6 7 8! -
9 10 4 e \ ¥
2 65 30
A9 W0 g D)
3.

‘One morning after sunrise; Gangadhar was Wall:.mg
faging a pole. The shadew of the pole fell exactly to
his nght,uhit."i'l direction was he facing ?

(A) East " (B} South

() West- (D) North

L

36.
direction on scooters, Ram's speed is 21 km/h and

Ravi's speed is15 km/h. What will be the distance -

br-tween them after 20 minutes?
(A) %5 Kkm (B} 25km

N 2k,

L O condition of road.
y il

Ram and Ravi stalttogether frmn apumt mop pr_us;te 1

. http://sscportal.in

Dmachnns In questmn nos. 321034, ﬁelect thenussmg
: number frorn the gwen responses,

':'Dlrechuns 3 Im;ueshonnos 3?mﬂ38 onestatement{s] s oy

- | followed by two conclusions/ Assamptions, Tand II. You g
2| hatedo, ;ugmggerﬂ;g_e,s;aterrsengﬁ} lobe true, evenif they -
27| seam(s ]tobeatvar;ancefrmnmmﬂyknﬂwnfac& You ' 7

| have to decide which of the gwmcmdumﬂnsfassumpu:m 'y

- | ifany, fu]]nw{s) Emmthegwm#atembnts{s}

37. ":'utemenl: Read thxsmhoe befc-re enl:ermg mm e
.  the stadium.- '
Assumptmn L~ Pmple are lzteratc
' IL Nu bhnd pﬂmn comns to
" the'stadiidi; *
(A)  Only assumptionlis unplmt ”
() Only assumptionTiis i E\'.\,
" A€  Neither Lnor s mqﬁc
D)  BothTand ITare lmplml:.
o f‘h L.l. L
38. Statemunﬁ*uﬂ; C iven off the road and hita
_ ; ﬂeg he driver@as efficient enough.
R | The road was not good. The driver
@0 Ly 7 drovethecarfor last fifteen years.
. Cunchsmn L Theaccident occurred due to bad

There was a mechanical fault in

the car.
(&) Only conclusionlis true
(B) Only conclusionIlis true
(&) Both the conclusions can be true
{D) None of the conclusions can be true

39.  There are three intersecting circles representing

English knowing persons, sportsman and persons
whoare wmldng as policeman. Different regions so
obtained in the figure are marked 1, 2, 3, 4, 5 6
and 7.

English knowing - Sportsman

‘person <

——Policeman

|

If you select persons, who do not know Englishand
are not policeman, which of the resmn is to be
selected ?

A) 2

e

@ Y g (D) ,3

SPACE FOR ROUGH WORK
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m ':_Hﬂw manytﬂﬂng]es arexheremtfushgmﬁ" silspeople whi
- ,-;ﬁpnakdﬂeremflanguagts i s

- I ' ...._. - l‘ Qtlesh-_nnkﬁgure ..'. Ll :_._ -. & :'-_n-[?} .K.annada ot

“WTE ke

T o ﬁ_L PR . - : | -
.:{_} W@ 120 L -~-19&}.=+Peuplewhﬂspeak1{amdaand}£nghsh

: . N (B) Peoplewho speak English and Hinidi.
14 '
© e D) 1'5 ormore __ @ People who speak Keumad.a, Eqﬁsh and
| - S T Hidi, -

. &W People who speak Kamﬁéa Bn@]sh ami
_ ) ' _ . Mzarathi. %
41. . Form thecorrect pattern with the segments given. _ iy 7
N _ Diréctions: thﬂesmﬂm&ﬁ which answet figure
Q'uesfhunﬁgu:e. will completethe patternin the queshmflgure? Lo

41. Queshmfxgure

\ o

Answer figures: : Answer figures :

® BT O D

T m O
B 45. Question figure:

42 Which oneof thefollowing diagramsrepresents the | | - 5 '
correct relationship with the Class teacher, Girls a.nd
Boys l::f Std WH ?

.

- Answer figures:

o[58 LlEEE

ol e OO g e O o)
e ~SPACE FOR ROUGHWORK 7
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}vaer:tmn inqmtum-ms.m sind 47, from the given, J
;. answer ﬂgf-ltﬁfseleﬁﬂ;eme mw’mch mequesumﬁgtue

- idda/n

46

47, *

-----

AR (| K|
A B CH )

L || BRI S

I R« SR )
If amirzoris placed on the line MN, then which of
the answer gures is the right image of the gwen

figure?
Question figure :

B TRy ..r.r ,_ ....-_ '_-.,,-_,.
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=y ?num]aers veri the altenahw:s are rel:fresenhaﬂ o

St cfassg;of”él'phﬁels &8 IS Thakrices g ir:?'l

"L pelow: Theé columns:and fows of Matrnci faré:i; o

© . tiumbered from-0 to 4 and" that of Matrix [ are. -
. numberadfmmStoQ Aletter from thesemaimes.;'

- .can be represented first by its row and next hyits *
cohimn, e.g., "N’ canberepreéenhedb}'@ 34, efc,,

. and 'R’ can be represented by 97, 68, etc. Similarly,
 you have to Identufy the set for the word g,n_wen .

'PULO' | | ,
Matnx I © Mateix-11
ol1]2t3l4] | T5TeT7[8701

s|K|LiMINIB| |9 /PlOlRESTT

3lriM| KON (8] TlsTolPTR
2INL@ UMb} [ 7 BTT(slale]

LIMIN|O|KIL 61 SIP|TIRIQ

ojo|KINTL ML {5 QR[P]T[S

(A) 66,21, 24,25

(L9795, 00, 22, 44

®) 79,12,16,3.

(D) 88,33,26,48

-

50. A piece of paper is folded and cut as shown below |

in the question figures. From the given answer -
 figures, indicate how it will appear when opened.

| Que_slinn figures:
Answer ﬁgqres Answer figures:
9 & W“%
) (5) N4 {D} i iﬂ} .._, i ‘

S?ACE FC}R RL’JUGH W[}RK =
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P o —-i e “1_.‘, -"P-\ . w et -r.-' ﬂﬂm\ A r:vv:-;*: _ . - . - v oa Yo i k _\ I-“‘ _L- ::_t-,:
_ 51 Specmg-lsagmup ﬂfmdm&ualsw’}ufhcan 2 _.,'a-'ii.jKrwoy~Roghqsn&lresummofﬂ -M .
@ sumﬁ:]lylwabage&lermqmd]e_ . S %-] Egal B IIM e

(B) surviveeven under odd mndlm - . N pper (Dl 0
e} rmamrepmduchve]}rvlahie T 1759, 'Whommyawumuimehdu'aGandh:Pumei,-‘-
tinter-breed : 5 : 22 ot :

P () FlaBhatt () EllenjohasonSirleaf -

s e et e et ... © 'L}rdia'Davi,s (D] Gmsm&ga:de
52, 'Ihemformatmnm EEPROM’iserasedb}rusmg \'\ '

_— 60. Where did Ma.ngalPandey rﬁz.‘rdll;,?

@) Hetors * - @) Wongs | M et ?M‘P“ '
(Q - Electrical Signals (D) Digital Signals '

ey

61~ The National 1 aign for People’s nght to

' . . ' | Information (N has been lobbying for the
53. The production, marketing, storage and -
coe oy T , passage of‘ﬂ&e’WbMe blower's Protection Bill”,
f:nt:?sumphunafrucohne basedp_mdu-::tstsbanned whichis aimedTohelp _
‘ o . (A) Woman Activists. (B) S‘I:metl?mdm :
:[A} Delhi (B) Rajasthan : & RID Activisfs, (D) ‘Noneof the above
© Asam__ (D) Mizoram Wy '

{1 Why were the Congressleaders dmappomted with
the Cripps Mission (1942) 7

54, Krishi Karman Award for highest growthin | - (A) They wanted full indepmdeﬁce rather than
foodgrains (wheat, rice and bengal ) produiction Dominion Status. :
was conferred on 10™ l-ebnmy 2014 to the (B) The Mission's proposals had not paid attention

" government of : to the demands of the Muslim League. ©
(A) WestBengal  (B) Madhya Pradesh, (" © Eﬁ;&:ﬂﬁﬁmmmmﬂﬂbm
. . o (%) Fa—
(© UttarPradesh (D) Rajasthan (D) None of the above
55, Wiorwac th déon of Adbks? - - | 63.  "War and Peace’ was written by :
NG N i (A) LeoTolstoy  (B) Lenin
(8) Daswaj. (B Dashkumar

[©) R.N.Tagore (D) Sarojini Naidu
(C) Dashanan (D) Dasharath o
' 64, Enzymesare: .

(A) Carbohydrates

. 56, “Whencenfral bank buys sewriﬁe_s,bmmfes_erves_: I R Biqlﬁ'gical_ta_taiyst_s;
(A) expands (©) Fats
® contracts (D) None of theabove |
(©) remains the same |65 Statement1:Quininic is used in the treatment of
(D) hasno impact on the reserves Malaria.
e _ , Statementz lt is nbtamed [mm the root ol
57.  The Boston Tea F'arty was: _ (A} Stétement 1i is cb;rer:l‘:, but Siatemenl: 2 is
(&) acelebration of thelmvest oftealeaves  * |7 ¢ incorregt . L
(B) apmtestagamstthebeadnnk&rs of Boston = - | -~ (B) Statementi lsmmrrE:ct but Statement 2 15'
. : B de, . . Cﬂm N - i e N
- Q) aprotest: against thetea tax S © 0 Both Statenmntsl and. Em mrre;t At
(D) an annual social affair ' (D) B:Jth Statt:ments 1 and 2 are incorrect '
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-é";a'e_.: --LIEDP;#.raamtm;lnceddunng&e o S “}ail-;l_;nd" wasihes]ogang;wen‘b}r e
CF ) ShEveYearPlan - o | (4) Chandra Shekhar Asad
wh S B it EiveXear Blai: ,;._}.;; e ). LokmanyaTilak P s

= (O FourthFiveYearPlan - . ih0 L{a"’ %bhasthmmrafnuse

o :';'.h-;_{D) MFW\EY&‘H‘H&I} IR (D). qualhﬁhu(;gﬂla]e
6. Whowion ,MYMLM“,? SR 2 _:[ufemsthex}flemm SENNE
) Dot I T W B @ B
® William Shakespeare s _ -(Q Mesarch- (D) Polj?arch o
v AQ) TeeTolstoy .. N i A 'r"ﬂ'ﬂdmuttﬁrsmmeunglerhecmgma!]umdgm
- () MukRgjAnand . oftheHigh Court? - :
o \»{ﬁ) Civildisputes  (B) Electiondigputes .. . -
68 - - -Cuﬂecﬁvefamﬁngis_dﬂngjqdwggmss;@dsﬂthe: | IR (& Cnmnaldmputea[[)} Cnnsjlﬁlh djsplrtea o
(A) velds (B) prairies . '}'B Tai Mahal q dby e
(© -pampas 178, Taj was designe :
5 - P () steppes © (A): Ustad Isa : (B) Usiﬁl'ﬁnsm
69, The Words of “Secular” and “Socialist” wereadded |~ © Uﬁt&d -Raf?i‘“ \© Wﬂm‘f’*’ |
: to the Preamb!e ‘of Indian Constitution by the »
nd th th th ratghigher dgro '
Wﬁ B« ©Q 46 ) ©) 2 @ chrthﬁve‘feaﬂ“lan ' :
: . B FifthFive Year Plan
—70. Aneuzaﬂdmdecarbux}rlahonglm ) |+ ©s:SeventhFiveYear Plan-
{‘&‘} Methane (B). Ethane (D) Eighth Five Year Plan
(© Propane (D) Butane - _
, 80.  Which one of the following are recorded first by the
71. Tt}ela}rerpl:esmtinbehwenxylemandplﬂﬂemin Seismograph ?
: Dm:}lStemm (A) -P-waves (B) S-waves
(A) pith (B)- stele -~ - —afl (O -L-___ﬂes (D). R-waves
(@) cambitim (D) starch sheath
' . | 81.  B- part1clesenutte¢iﬁ'omaradmachverrucklare
" 72, . Thelabourwhichicreates value and gets rewarded (8) hydrogennude:
fntilxsemnm‘mcaﬂed: ' % i;ehumn'u_clﬁ _
A avua,gejbour ; astmovingneutrons
\H,, i ivelabous (D) fast movingelectrons
© moduchve labour |82 TheNobel Prizefor Arthur Kornbe e fu
o) bot?t&ki‘ﬂédanduﬁsldﬂedlaﬁau_r hmwm.kmn r rg was given r.
_ o T " (A) Mutationtheory = -
73. Opeofithe following is the constitutional power of (B) One gene one polypeptide h}rp-othm
__ll:l'lelnd:anParhament (G} Cracking triplet code
(A) Supetvising the work of state legislatiires -~ | (D) Isolation of nucleicacids -~ ~ - . . .-... .
- LBJ" Amending Indian Constitution as and when
required 83. - China built the Gwadar Portin :
© Setﬂmgdlsputesamongvannrusdeparhnmta © {A) Pakistan - - (B) Bangladesh . .
(D). Reviewing. ﬂmwnrkofeducanmahnshtunons o (CJT MY“““‘“ [D}_ Vietnam - E
. Sumsan:ﬂnstant soiree: nfel-'ler&" Whil:hnuclm '34; -,Greeniandlsa X
- 5etﬂf£-éd inGun’s atmosphere 2ot e o 2(A). blalCEShm T H-.;. e
WH}'dIGF@ B) Heliom™ ~ < ‘“"EE% high Pllﬂ"'ﬁ““’"md WE“ RS
o N '_ o} low platéan et e
© Uranium {D} Flubumum LT D) contmenttﬂlally-:ﬂvered mthm:lw

CGL Exam Full Details : http //sscportal m/communlty/cgl
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(A) Lacticacid - Milk

- (B) Citricacid - I.enwn :
L{E’.’j"ﬁutyncaud Rmdhutter
D) Fumucacld - Vinegar . -

Asolid cannetchange its shape easily compa:edtou

liquid because of :
(A) higher density of solid
stronger intermolecular force in solid

(© largerintermolecular sePeratmn in suhcl
D) h!ggemolecular size of solid—

Pri*v&te in;.rest:gg‘_gnt is otherwise éa]led 'as :
(A) foreigninstitutionial investment -
®) f‘?féisndillﬂc'tinvestmmt

(@ induced investment

©) autonomous investment

Liquidity preference mearis :
(A) Refraining from consumption
(B) Desire of thé public to hold cash
(@ Showing preference to hnld capital assets

(D) Showmg preference to hold hends and B

securities-
TheChaumant:-fLI(hs LA
\M’-Mﬂrakumar “(B} "\‘hno& R‘éi
(@) I\ Mehrotra D) Lax1m11 Das o |

http //sscportal |n

L {A} fnrapenﬂdnfﬁveﬂmwﬁnmmeyatmm f e elern :
. . yearswhicheveris earlier - T (A). Cole
v {B} f&rapmodgffbu;mer ﬁtﬁm&ﬁymgﬂ? vt e (C)s Bifn ,~
- agewhich everis earlier ' - _ _i' e R e RIS I i
{C] fgrapermdofslx}*eamurhllﬁwyatmn 65 1.9 hnnalu&ﬁmnmdemdasﬂte'FamerﬂfTamn _v,r‘ .
yearsofagewludlevensearl;er Con . becausehe: . B
(D) fora period of six years or till they attain 63| < < ()’ Wﬂ‘eF“ﬂPﬂmmdmfyphm
yemgfagew}uche,mmwhﬂ (B). coined the térm “Taxonomy’ : :
._ . (@ proposed binomial nomeniclature ?
: -authored many boo SRS
. II;IQT ;“a“}’ Chmnwsumes ;mrs are in a human (D} many hunﬁx@ﬁfﬂ? .
y
' . Whﬂhﬂfﬁmfﬂﬂowm ffﬁﬁeﬁe'htwas i led
A9 B 22 ‘OB D) 24 [ Mahatma Gandhi?- ';& notled by
" (A) Champaransatyagrm
Which amongmgfoﬂo“mgismtmrrecﬂy paired 7 \{BJ” Bardoli Satyagratia *

© Non-mqpera&ifMovemt
®) Civil Disobedience Movement

95.  Innature, tmpl;ic'lmls are found in:
(&) Rootsystem = (B) Shootsystem
(@ Eeosystem (D) Tissue system
1 9.

If the earth stcpsmiaﬁng, the apparent value of g on
its surface will :

(A) increaseeverywhere
~ (B) decrease everywhere
(O remainthesameeverywhere-

Dy mcx\easeats-ﬂmplaoesandremmnthesameat
other places :

Dr. B. R Ambedkar was conferred “Bharat Ratia”
during the regime of :
(A) UPA

3 (B) NDA
“€) BIP

©) D

98. - Tape recorder records sounds in the form of :
A Blectricalenergy  (B) Magneticenergy
(Q Varibleresisance. (D) Sound waves

99, Enumerate&m'\«’edangas:

A Six .~ . (B) Four

{C] Fwe CL {D] Eleven

o ~11]ll} Prablﬁtlc tuxd [Yt:-gm:] mntams hea!th

vh-c A . ha B ".?’-.Z-"--.': b

[A} sm.u:teafeugl‘g}" {B} &ansgenm&enes
1(©. anhbmhfs (D) bacteria

CGL Exam Full Details : http //sscportal m/communlty/cgl
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QUAN'ITTATIVEAPIITUDE

AL ARGH S soscles 1 TGR BtmGH Scm-,men ms’ Wi‘llchls the largestafﬁmfauuwmg Fracuum
oA “fthemuﬂwmgrthﬂl‘uerelauums* w AT

- 2 3 3 11 . . . .
&) GH<GF B GH=FH *_ - . | .3 o AR R R e
.-_(CJ',_EGHL @) FHSGH oL | T T SR B
W3 B 075 YO
¢ 1 LT
=102 - I x- —1--==1thenth alue of I A
) evalueof ———¥—15:" | 109, It goods be purchased for< 450 a unetm:dsuid
' _ ~ ataloss of 10%. ﬁ.tWhatgm nt should the
1 _ 1 31 remamderbesu&dsn the whole
A6 B 705 o7l " transaction ? o

- | | (A) 30% {EQSE% ‘@35% .(D):&% :
103, Iftan0+cotf=2then the value of is: ' e -

(A) 30° \‘(B&]"‘EE © 60° O 9° |30, Tnaw jforl:pkentte circumeentre, incentre -
: : and centroid€oincide, then the tnangle mustbe

. a1 | (A) mghi-angle& ®) obtusemgled
- 5. =g
.11}4:. If 5 = Jlﬁ.-;?ﬁ-thenthevalueuf 3 s O hﬂsc@l&s . ﬁ:’T i teral :
- &) 82 (B) 1[:_,45_ . % : R
© 142 © »n.f : 111, InAABC, £B= QD“a:mihB BC=2: 1 The value of
8 i sin A +cot Cis ; '
| cos § 0 ® 3v5 [Bﬁ'-s+'ﬁ
105, If ¥ = ———— then'>—— isequal 1a:
. 1—sinf" 1+sin6 s .
- UGB oo
® R CEE V3
- .
(! ” ©) AN 112, Area of the floor of acubical oom s 48 sq.m. The
oSk : - adl lengthofthelangesimdthatcanbekeptmI;hat
_ TO0m s : .
106. 1f ABC isan equilateral triangle and P, Q, R (&) 6m. ®) 9
:;de}rmme middle pointsof AB, EC,.C’A @ Tfim | D m
.- (A) " PQR must be a right angled triangle- R o

“.(BY "PQR must be an equilateral triangle 113, Mfx+y=15 then (x—107 + {3—5}315_ :

(© PQ+QR+PR=AB %ﬂ} 0 fol 25 (C} 125 fD) 625
-t AD) PQHQRAPR=2AB: - - re e - -
I _

114. What is the pmduct of the roots of the equation
107. The cost of a house is T X lakhs in 2005. After "'J“ L7

?
- 3}’fﬂl‘ﬁ-the'uﬁnemfthehousesoldﬁfurﬁ% more | x "r 0. S
~© thanshe paid it.” But she has to paya fax of 50% of | (A} J_ {B} NG
l‘hEgam Thetaxamauntshehaﬁtopa}rm b S BNE

sw:]a mu RDUGH womc

CGL Exam Full Details : http://sscportal.infcommunity/cgl
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115 ﬁ man saves. ? 25-011 I:he pu:chase uf an artn:lenm

-

=7117. The minimum numbers of common tangents drawn

- totwo arcl&&whenbnthﬂlemdetouﬂfﬁext&n@ﬂy
is: _
® 1 o3

() 0
llh.l.' ) The angle subtended by a chord atits centre s 60°,
then the ratio between chord and radiusis:
(A) 2:1 B) 1:2 - '
Neah ©) V2:1

©2

119 Fﬁr wimt value (s) of K the exprﬁs&ian

p+ % Jp +K2isaperfectsquare?

® =y

—

(A

1 1
+ ¥ L 4
(B].- @'4 ﬂj} 8

A sum of % 76 is divided among A, B, Cin such a

way that A gets T7 more than that what B gets and
B gets T6 more than what C gets. The ratio of their

sharesis: | _
(A) 1925333 B)19:24:33
O 32:25:19 (D) 32:24:20

A cistern normally takes 10 hours to bé filled by a

- which a discount of 20% is. aﬁnWﬁd Hh'-"{ much 1.7

123

112

dldthemanpay? .- T
RS @) 375 3 h
.'?q ?150 rp}ﬂm

SR ST .:’93-.":"-3'-.' ;:‘,?_{ |
1‘_‘!_6,. Thenun\erﬂlmluegf L}_‘L_l_" ‘ .

- L 2oy 1 .-m;e'czlﬁ?“

cot” 63° . ‘sin” 63° ’

@Wo.. 1 @2 O

125

126.
- make il pdrféﬁ uare is

lf out Gf 1ﬁ selecbe;l Emdenis fm.anmn&naﬁoh

w3 were of 20 years: age,&crf 21 and Eﬁﬁ?ﬁm ihe
average ageof th& group‘rs

If15% ufxlssameaslﬁ%ufyﬁlmr ymf
3@ -mu,ww
R e =) ﬂmmofxma .'.!'

® A
4 Dy mnpofmese

S]It'
I 2

@ o
©-1.

The least ntm'lber v\iﬁu:hthust he added tﬂlm i:ﬂ

(A) 30 ﬁ% G o3 ;

_ _ | sin43”  ‘cos 19° P 1

I o + B GIJ ]
127. " Thevalue t_:-f s 4 | sl oS
A # @ﬂ’ﬂi“@rﬁ

128.

129,

130.

tap. Butbecause of aleak, it takes 2hoursmore. In |

how many hours will the Jeak empty a full cistern ?
Lmeo @S (O D30

122.  You arrive at your school 5 minutes late if you walk

‘with a spéed of 4 km/h, but you arrive 10 minutes

'__hnuse{:nkrn}m
(B] 4

..p. ,-.-,'_ {m

{‘33 5

{D] 0]

.g.-.w -\d"--'-\*'\a\.l_ Foriatins

131,
.. before the scheduled time if you walk withaspeed |
~-of 5 km/h. The distance of your : schml from your | -

- (410

1
Fa=2+ 3, tl:lentl:llevalmv_n::vf{il +'_"]IS

@12 OuU. O

5 .
If cos mx = - x+ ﬂlevaluecrfx Mlibe

4 '
GV ®) 1 o i
Q. -1 (D) None of the above

Two triangles ABC and POR are congruent. If the

-~ area of AABC is 60 sq. cm, then area of APQR will

be:
(A) 120sg.cm (B) 6053:1.';::1
(@ 30sq.cm... . (D) 19sq.cm,,

‘A candoa piece of work in6 days, Bin 10 days and
Cin15days. They jointly complete the work and -

. €arn¥ 300. The sum of their wages for 2 daysis :
- (A) 120
"(c} nﬂu

(B)'T180 -

SP&CE FOR RUUGH WGRK
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. 132. IEtheu

136.

137.

138.

-~ working, and finishes thejob. Howuwny daysdid | . .

139.

ai __“.;:.._,:-[ﬁj Ercnn

©Q 276a%

(A) 5m

¥ .l—'\.w ety _,;-

{E]?ﬂ“ (q 1w (D} Iﬂﬂ"

© 80% (D) 60%

. /The i;erm’mbe added to 12122 +64b? to make a
- perfect squareis: -

.’h'-*‘:-' 1.. “ats
®) 176ab
©) 178ab-

(A) 188 bla

Atank 40 mlung, Bﬂm broad and 12 mdeep is dug
ina field 1000 mlong and 30 m wide. By how much
will the level of the field rise if the earth dug-out of
the tank is evenly spread over the field ? -

(B) 2m
D) 05m

QO 1.2 m

A train crosses a platform in 30 seconds travelling

-with aspeed of 60 km/h. If the length of the train be

200 metres, then the length (in metres) of the platform

is:
(A) 500 © 300 ©)200

(B) 400

i b'—::+-a_+c+_a~b
a b c

then which one of thﬁolld;;rihg relationis true ?

1 1
B <

=1 and a~b+c#0

1
' Wl

£
=a

AandB tﬂgemﬁ:x;zn complete ajobin 8 days Bnth
B and C, working alone can finish the same job in
12days. AandB commence work on thejob, and.
works for 4 days, whereupon Aleaves. Bcontinues
for 2 more days, and then leaves too. C now starts

Crequire?

@4 5 ©8 O3
For a triangle ABC, D aﬁd E aré two points on AB

and AC sw:h that AD = aﬂB ALE— ~M3 If

Ppomte suifﬁ u[ a quad.tﬂaiﬂai and’ a[so its '-’
dlagbna]s are equal, the:n each of. tim angie of the
quadnlamai St e

Ay

.;'IfthemdeufaSqnaﬁewmduﬂedh}'SG% i:m::rea -
* will bereduced by :.

" RO [B}?S%

“hit --"'ﬁ'—"{-!.

g.s;. 90007
-._.:_fq msan

Do_vvnloade_d Fro_m : ht_tp:_//sscportal.in

R*fm:—'m e

f.'j_.Js_l,am;Iﬂ I fcr 2 years arS% per annumhe eq“uai

{b} .4_9'.539

‘ﬁshuphepm marksl‘usgondsiﬂ% aboveﬂmmst.-j. -

. price. Heallows a discountof 5% f6r cash payment
to his customers. He receives ¥ 1064 after paying -

- ... thediscount. His profitis: -.%‘5,
@I . @) Teh
: (q I ) ?‘ﬂw

KRR B e

142,

- (@ 6.66%

- -_,.

Ifa,b,c d; Eareﬁ»e&@mecuhg éfid nmnbets their -

mgem :
W) ats ¢ .‘_“' B J(a+4)
© &——? ' D) 5(a+b-+ctd+e)

Anand marks 1p the price of an article by 50% and
“then allgws a discountof 20% and sells it toBataji.-
Balaji sells it for T 20 more than what he

for, this 5.P is 30% more than the original C.P of the
article. Then Balaji's profit % is :

(&) 9% ®) 7.5%

(D) 8.33%

The graph shows the result of 10 class students of a
school for 4 years. Study the graph and answer

Bumber of students

Q.No. 144 to 147.

—

% : — S—

> : - —— —.?{f'—__

5 & i % i

E - S—, —ﬁ; F§?E # M class

s o iy G = ks
EF:-%? T ' H— widas |

2K 3

| emEmERE
]
[

. 144._ : The j.fearm whﬁ&eumxnmumnumberufsmdmts
‘BC= 12€mthEnDEL': : U 2T appeared for the 10% class exarn is .
075 @ e ) Semc| ) 2000 Br 01 (O 2002 Py
bI“ACE FUR RDUGH WORK - 30

o r‘r'f{.r

CGL Exam FuII Details : http //sscportal m/comm'unlty/cgl
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e 'FR‘?EU:;LL HANDICAPPED® -  giies
~CANDIDATES ONLY . » o
o RS ‘ """;;heavﬂgewahtoﬂa}wmkermﬂkg The
" A . average wéightof memsﬁk mnamatuﬁhela&iea
L 14&. Thenurnﬁerul"studﬁts appeare_ inrﬁlém*“cim '155ng Themmber-:}fladl&sm B -
exam in the year2002is' . L {A )50 {B} Jm {q {D] IBI}
&) 120 (B 180 \_@’195 }wun ' _ £y -
145, anhht sum ofmﬂney vn"!!tl‘uemmple ihterest for o
147. The percem:agﬂrﬁcreasenfhmtclam mﬂ'ua year 2003 3 years at 8% per annum be half of ghe compound
over the year ?.Ul}zxsappmxmateiy . interest on?tl(lﬂfoﬂyeam at 10% pex annum ?
IOKES @ 1% YF0%TT ) 0% | @A) T ' 75 .
| ) - .C} 7195
" " Study the diagram and answer Q: No. 148 t6 150.. -~
146. Find the o nwmg set of numbers -
. s 15,20,27, 3
10 @i m 0 . 02 (D)aﬂ
\> " P . |
80| 'l Food J ﬂ}, Ex=f!', y=4,p=8, q=10, find the value of
70 o | 4
g @ Clothing~ e (P2 -
: & Education 0V gt .
i B Fuel . L 0T T T o
0 iy v | ()30 (B 26 © 32 D) 24
i’GT Z Miscellarigous '
_ @ : 148. In a right angled triangle, with sides a and b and
3 10 hypotenuse ¢if the altitude on the hypotenuse is x,
- —d then: )
% i .
'_" T L . b .
" B i (&) ab=x? B = =x
‘1‘1‘ E -
o248, What fraetion of the totil expen diture is spent on _ _ 1 1 1
;5“*‘ Edicationin family A7 © +=2 O Zt ez
. A 1320 @23 (O 9/13 1/5
e u" e
: 149. The selling price of 12 articles is equal to the cost
149. If the total annual expenditure of family A is price of 15 articles. The gain percent is :
330,000 then money spent on food, clothes and L
& houserentis: o
e . A) 6% 20%-
L (&) T18500 8 218,000 W73 [B]
@ SO T 210000 ¢ - (D)R 15,000 Q) 5%, .. [D) 80%
150. If the total annual expenditure of family ﬁ'is 150,  Ind5lireof phenol-water the ratio of phenol to water
10,000 then money fspent on clothes dunng the | 152223 Theamountof water that should beadded -
yearis: toitto makethe raﬂoii 37
A 200 -'-|[B} %-ane- (A) 4litre-. ®) Blive
(Cy isnna_ R %15{1{1 : (Q Siitre. (D) Zhire g
SPACE FOR ROUGH WDRK T

CGL Exam FuII Details : http://sscportal. m/communlty/cgl
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. senténces havfmumandsomgaremm:t Find out which

* ‘part of a séntence has an errorand blackén' the:

_ aval @] cmespundmgtl:&the appropriate letter (A, B, C).

If a sentence is free from error, blacken the oval |

'iﬁbneapnnding to (D) in the Answer Sheet.

T ’

- 151, qufmg:ﬁearchmgg;amj _

- . 1mrﬂlvedmmmg' teenagers/
M!
© {D}

" 152—Much harassed / helefthostel

bag and baggage / No Error.
© ©)

153 The xoung man was sm@ﬁ;ﬂ f

(A) ®B

- ‘perhapsa shadg_ scandalized/ No error.
© o)

154. Jeo ata hotel/

because the board and lodging charges/

were too expensive / No error.
Qe O -

l'andeve_ i 'weﬁ'gg"véﬁ’.i'._ .
® IBL/“

- S L. - I ..

gg kﬁgfsmae f_q_m_‘rq;
© - )

i T PART»_., e
e EmcuaH commmwsxom
_=uH-=':--:=-¢ m:a 5"“""‘"'r-?':‘w< '*-fh"“ik_?._'-»*-' _””' w

-Ifl!'ﬂttiana In ‘31uesh0n Mmsl 16155, some—parfsnfthe{i- ;Dueclioﬁs i quﬁhﬂn No:156 to'lﬁﬂ:semerm gﬂerrf- e

: .‘mﬂthlanlcs to be filled in m&l an apmopnaive word(s} S .
1+ Fﬂwﬂ&nﬂmesmngg@mdformwmm Choose - =

156 The sound Eﬁfecls

1 157,

| 159. The hunter killed two

- | 160, The prmcrpal has gwen h1s

AP .
st el e
T K .

e e A

N\-u.nn:.‘ . ar Am i

the correct alternative out of the four and indicate it by

blackening the appmpnataeoval [-]mﬁeAnsWerSheet.

L ma s ..‘r

___bg.themordmg
dlrechor _ T T -.

E - I
v A

(A) bemg prov:de P@vd&d

e prc-wdef {D} k‘bpromded

__of cotton is very heavy.

The
) bail ~ (B bale
(©) _band (D) bald
156, She heardthe - .- of the:}unges
(®) rusting  (B) crashing -
© cesking () ratling

for dinner. -
‘-(M(fowi (B) foul
O ool D) flour v

A

_to the -

() ascent

B otuser ¢
L o
A} assent

- (D) except

CGL Exam FuII Details : http://sscportal.infcommunity/cgl
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_ --__'j_f_.f_,: mearung of the gwen w-::-rd and mark lt in the A:n,swer

Downloaded From :

D:rﬁchuns i qmasmm N-:} 161 m 163 nuto£ m&four
&ﬁmrr::ﬂwnﬂ.-s,L choose’ the ‘one. which best expmsses the -

Sy upright @) diedt

(D) .m;me:ntic

. Cantaﬁiéruus::
O d:arespectful

-' {B]rash
(D) noisy

163. Vocation:

 (A) seminar

\,(B)”E-:cupahﬂn

© holiday ©) examination

Directions ; In question No. 164 to 166, choose the'word -

opposite in meaning to the gwen word and mark itin the '

JmswerShEEt S

164. FRUGALITY:
) prodigaliy.
Q coptviy

(B) semmity
(D) gaiety

165. MISERABLE:
o W) happy

L“ij'-’ laudable

(B) active

(D) solitary *

155. )HUMANE
{A} lwmg bemg

®) person -

| 'wﬂ?ﬁkmﬂ o
CGL Exam Full Detalls :

| 171 I 'you fead betiveen

o PRELNNRTS .,t.h

http://sscportal AN

Birechuns*—[n qpesum N 0. 15?10 m,, fau: a;mum L

mgﬁmformemmm\?hrasemderhnedmﬂmm..“ -

C.'l'm-cse the altérnative which best ex

16‘? He isa cut above a]l ﬂleothﬁboys mlhe-grc;up

\..W"fnore actve than

® ahtﬂﬂ'rougherthm |

#{C} ﬁraﬂler.aupeﬁoﬁo R
" (D) quitetaller than T \ 9
X ",_,’#_

165 "As soon as the pohiae am@-l the bank mbbm-s :
showed the&ﬂg}_ ) .
\4&7’ Sumendered © (B) ran away.

[Cj wemimensed {D} Cﬂ]ml}"lﬁﬁ!hﬂﬁﬂﬂl‘lﬂ

L v

T'i

169. Tocutunﬂshu:t
n_;A] toinstltone (B tocriticiseone

- A€ tointérraptore (D) toloveore

170. To throw dustin one’s eyes. E

\-4?(]’;0 deceive

{©) to makeblind

(B) toshow false things

(D) toharmsomeone

i, you Wil appreciate
i_vhat he writes. -

_ (A) cahreadalotquicker '
L&T’kunwwhatthemmﬁ - '
; {Cj -:anreadandwntem l:he language

""i" a—""a -g--n..---.

{D} can read leavmg hnes mbel-ween T

http //sscportal m/communlty/cgl

pressesthemeamng'
__._,_: . ﬂf.ﬂlﬁJH_ nm\Phxase and_ma:katmﬂae.&nswe;ﬁwet

= _,--:.L-.E-.' i
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Dlrecl:mns lnques!:mn No 1'.'?2 toiBLasentence; 4 paﬁ
afﬂwsmtamemﬁallmd Below aregi ternatives -

g "”wﬂiﬁ’"tmﬂerlimdﬁm’ﬁlfﬂi‘:mg' {q%mmmg A

the sentence! Choose’ the corfect alternative. th:ase
1D improvement mrmeded}rmlr answerls{D} Mark :,n}u.r

:'”; -answer inthe Answer Sheet.” .
C172. Wehalf_m_m_ﬂ.mwsecan,ad]mﬂ\m,gsdowly

and gradually, not overnight.
(A) would know that (B) hadto kmwthal.
\.{Q"ﬁmst know that (D) bIOI[IIPIGVE]IIBIt _

173, During his long discourse, he did mrt ‘touch the
central idea ufthe topic. .,

(A) touch - (B_)-:tauchr.rn-_ AT
€ touch upon (D) Noimprovement
174. Rajesh’s ability to uge the l'o'caI languagé surprised -
(A) knowing of B) cmﬁdememtl't
) Tamiliarity with (D) Noimprovement -

' 175, This telephone number is not existing.
(A) hasnotexisted  (B) has not been existing
\ S doesTotexist - (D) ‘No improvermenit

176. Unless they modify the system, our fuiure
generations will suffer, A a

{49 Unless the system is modified
(B) Unless the system will be modified
(C) If the S}rstem will not be mndiﬁad _
_ (D) Noimproyement -
177, Wedid not see this movie vet,
(A) rieverseen. \{Br have potseen
{C} ﬁﬂwerhmseen (D) Noimprovemient

178. The stadent's interest wés raised by an article he
had read, -
(A) qu.rcl:ened, (B) mu!hphed .

{C) increased. \_(D}‘Nompmvenm

179, Yusually did not take sugar in'my tea.
A donottake (B) donottakes
" (O havenottaken (D) Noimprovement-

The_si_ghtﬂ{the lizard is hateful to me.
(A) repulsion  \_BJ” repulsive
© repulse ’ {D} Nmmpmvemw

Would it be lmpertment M}ALL_'&
' leavmg ? 3
. .'.(A} lfaSkmgwhvyoum-eleave ST i
@ fmaﬁkmgwhﬁ’ you are Teave” " i i il
{CJ toasking why you are lea».re
Nﬂlrnprovement _: o

180.

181
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- Directions : In queshﬂn N-::- 182 En IES out ﬂf tfue fnur

.-.m._..... S W e el dy

Bltermhm choose the one which can be. subsntu}:ed}or -: :

ﬂ'lﬂiglrm W{)DtiSj‘ serrherm ﬂﬂdmdlcatﬁt it b}" ﬂﬁt‘kﬁ\mg
'ﬂ'ieappmpﬁate oval [ﬂ] in &eﬂmwer%eet

| 182 Pewsc}nwhﬂfﬁesasult e W
" @) sutor ‘ﬁ’plamuﬁ
@ acouser " @) daargm .
183. - Take. great pleasure:
() satisfied " (B) aphold i
\ﬁrcverham

(D];ﬁ

J.EJL Theprachseof havprgmanyvﬂggg
. () calligraphy \5(8] Polygamy

(@) polyandeyh, D) bigainy
185, Awperson who abstairls mmplel:élylfmmalcuhuﬁc
= (A) “derelict ' (B) subjunctive -
(C) incriminatory (D) teetotaller
186, A strong dislike:
() entreaty ‘B animosity
(©Q malice (D) reciprocity
187, The Mahabharata is a long poem based on a noble
theme: - . '
(&) story (B) narration
€] epic (D) summary
188.. Afrog lives both on land as well as in water
AT amphibian - (B) aquatic -

(C} ambidexterous (D) animate

[T R

DMEans : In question No. 189 and 190, four words are
given'in each question, out of which only one word is

' mrrecﬁy spelt. Find the correctly spelt word and mark yout .

answerin the Answer Sheet.

189. i (A) propeler (B propeller:
© pmpelr@ O) propelfar . -
i I‘)l] Wrrussmnan (B) misi'::rm:fy e
O mlssmmww (D) n.'usmnerr}—'
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*. .. Directions: Inguestion No. 191 10200, you have two brief | * . * " Passage- IF[Question No: 196 ta200]..- .~ .
. passages with § questions following each passage, Read t of elec ; '

C "rtEe.Ij’a?‘sagégﬂljﬂf&fUﬂjﬁaﬁdChﬂﬂﬁe\'."__ the best answer to each
" ~question out of the four alternatives and ‘mark it by
+7+--blackening theappropriate oval | @®] i the Atiswr Sheet |

(U Passage I Question No. 19119 195] T

| mexi had a hand both ift acquFing Basic khowledge about
the invisible form of poyer and in developing the ways ~
adopted for practical purpose. One of the vital keys that *
helped to unlock the doors:leading to the productionof =
electricity was the discovery, in 1831, of the principle of
electro-magnetic induction. This discovery was'made
simultaneously by Michael Faraday in Englandand Joseph .
‘Henry in th€ Unifed States: From it cam@ith&gerierator,
sometimes also called the dynamo b utseveral des :
the ! 'r‘s\i"ﬁractica] :

“ . 77 The reports published by a Delhi based
- non-governmental organization working for the
 elimination of child labour in India suggest that there is no.
end in sight o the sordid saga of child labour. The studies
~conducted reveal the nightmarish ordeals that a vast
-« majority of children undergo for getting the basie necessities
of life. One of the activists narrated the heart-rending and
-~ shocking stories of many hapless children. He accused the
- societyof insensitivity towards this vulnérable section. -

_development had to follow before’the

‘- . The advent of electric'power was, ina way, -
conparable fo the successful development and application *
‘of nuclear power in the 202! century. In fact, the historieal. . ;
10015 of electricity extend far back into antiquity- Many .

Itis said that more than five percent of the total Indian

populationare child workers, Tens of thousarids are chiefly |

engaged in agriculture in rural areas and in a variety of
industries inurban areas. Children as young as seven years
of age spend days stitching footballs, boxing and cricket
gloves for ‘export. Many children spend their entire
~ childhood making carpets with their dexterous hands,
Unofficial figufes suggest that as many as 40 to 100 million
~ children work in hazardous industries like glassware,
fireworks, quaries etc. Many of them have been forced to
work in unhygienic conditions ofteén on a casual basis.

191. of children work in hazardous

cqnditiﬂrfs.
(A) Millions
(C) Thousands

(B) Fiﬁpement |
sgf), Yony

.192, The mrd heart-rending mearis

(&) distressing (B)/'shocking

(© painful (D) risky
193. Thesociety isaccused of
problem of child labour.
(A) vulnerability  (B) insensitivity

towards the

194, Theirchildhood is spentin
~ (A) nightmarish
(©) urban

R . conditions.

(B) hapless
(D) vast

195, The repoit was publ'i;hg;ib}r .
(A) the Delhigovernment. "~ |
+ (B) agovernmental organization. < -

O anactivist 2

Rt e PR
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| dynamos or generator came into exist;rﬁe'ﬁ early 1870,

196. The generator was alse krowiila$ the
. (A)-dynamo {B). dinventor
© condiicior ‘."-?" @) induetor
197, ‘Anothet wordfor “advent” is
" (A) arrival " (B) invention
{O) “constitution (D) discovery

According to the author.

{A) Nuclear power and electricity were discovered
in the 20t century. _

{B) The discovery of the principle of electro-
magnetic induction was not an important
discovery. | |

(C) The advent of électric power is equivalent to
the application of nuclear power in the

century. :

(D) Micheal Faraday and- Joseph Henry

- revolutionized elecricity in the USA.

Micheal Faraday and: Joseph ‘Henry discovered

(A) the generator

(B) thedynamo "~

(O the principle of electro-magnetic induction
- . /(D). the application of nuclear power

Give asynonym for “antiquity”.
(A). Antipathy (8) Modern
~ {O Uniqueness (D) Ancient

000 .
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